BULL. AUSTRAL. MATH. SOC. Vol. 47 (1993) [155-162]

RAMANUJAN'S REMARKABLE SUMMATION FORMULA AND AN INTERESTING CONVOLUTION IDENTITY

S. BHARGAVA, CHANDRASHEKAR ADIGA AND D.D. SOMASHEKARA

In this note we obtain a convolution identity for the coefficients $B_n(\alpha, \theta, q)$ defined by

$$\frac{\prod_{n=1}^{\infty} \left(1 + 2xq^n \cos \theta + x^2 q^{2n}\right)}{\prod_{n=1}^{\infty} \left(1 + 2\alpha xq^n \cos \theta + \alpha^2 x^2 q^{2n}\right)} = \sum_{n=-\infty}^{\infty} B_n(\alpha, \theta, q) x^n$$

using Ramanujan's $_{1}\Psi_{1}$ summation. The identity contains as special cases convolution identities of Kung-Wei Yang and a few more interesting analogue.

1. INTRODUCTION

In this note we apply Ramanujan's $_{1}\Psi_{1}$ summation [17, p.196, Entry 17] and obtain a new convolution identity which contains as special cases the identities of Kung-Wei Yang [20] and a few more interesting analogous. Connections with the generalised Frobenius partition functions of some of our identities are also pointed out.

Ramanujan's $_{1}\Psi_{1}$ summation can be stated as

(1.1)
$$\frac{(qz;q)_{\infty}(1/z;q)_{\infty}(q;q)_{\infty}(\alpha\beta q;q)_{\infty}}{(\alpha qz;q)_{\infty}(\beta/z;q)_{\infty}(\alpha q;q)_{\infty}(\beta q;q)_{\infty}} = \sum_{n=-\infty}^{\infty} \frac{(1/\alpha;q)_n(\alpha qz)^n}{(\beta q;q)_n}$$

where

and

$$\begin{aligned} |\beta| < |z| < 1/|\alpha q|, |q| < 1, \\ (a;q)_{\infty} &= \prod_{n=0}^{\infty} (1 - aq^n) \\ (a;q)_n &= \frac{(a;q)_{\infty}}{(aq^n;q)_{\infty}}. \end{aligned}$$

(1.1) contains Jacobi's triple product identity [16]

(1.2)
$$\left(-qz;q^2\right)_{\infty}\left(-q/z;q^2\right)_{\infty}\left(q^2;q^2\right)_{\infty} = \sum_{n=-\infty}^{\infty} q^{n^2}z^n$$

Received 11 February 1992

Copyright Clearance Centre, Inc. Serial-fee code: 0004-9729/93 \$A2.00+0.00.

155

and the q-binomial theorem [18]

(1.3)
$$\frac{(qz;q)_{\infty}}{(\alpha qz;q)_{\infty}} = \sum_{n=0}^{\infty} \frac{(1/\alpha;q)_n (\alpha qz)^n}{(q;q)_n}$$

as special cases (In (1.1) put $\alpha = 0 = \beta$ and $z = -z/\sqrt{q}$ and then change q to q^2 to obtain (1.2); put $\beta = 1$ to obtain (1.3)). There are several proofs of (1.1) in the literature [2, 3, 6, 7, 13, 14, 15] including direct proofs (see for example [1, 19]) which do not presuppose Jacobi's triple product identity (1.2) or the q-binomial theorem (1.3). There are many interesting applications of (1.1), see for instance [7, 8, 9, 10 and 11].

In Section 2 below we obtain by a simple application of (1.1) a convolution identity for the coefficients $B_n(\alpha, \theta, q)$ defined by

(1.4)
$$\frac{\prod_{n=1}^{\infty} \left(1 + 2xq^n \cos \theta + x^2q^{2n}\right)}{\prod_{n=1}^{\infty} \left(1 + 2\alpha xq^n \cos \theta + \alpha^2 x^2q^{2n}\right)} = \sum_{n=-\infty}^{\infty} B_n(\alpha, \theta, q) x^n.$$

Indeed, we show

(1.5)

$$\sum_{n=-\infty}^{\infty} q^{-n} B_n(\beta, \theta, q) B_{m+n}(\alpha, \theta, q)$$

$$= \frac{(-1)^m (e^{i\theta} \alpha q)^m (1/\alpha; q)_m (\beta q; q)_\infty^2 (\alpha q; q)_\infty^2}{(q; q)_\infty^2 (\alpha \beta q; q)_\infty^2 (\beta q; q)_m} \times {}_2\Psi_2 \begin{bmatrix} q^m/\alpha, & 1/\beta & ;\\ & q; & \alpha \beta q^{m+1} & ; \end{bmatrix}.$$

Here as usual

(1.6)
$${}_{2}\Psi_{2}\begin{bmatrix}a, b;\\ &qz\\c, d;\end{bmatrix} = \sum_{n=-\infty}^{\infty} \frac{(a;q)_{n}(b;q)_{n}}{(c;q)_{n}(d;q)_{n}} z^{n}.$$

In Section 3, we obtain special cases of (1.5) and in this context we shall need the following evaluation of ${}_{2}\Psi_{2}$ [12, p.305].

[2]

Indeed, in Section 3 we show that (1.5) yields as special cases, convolution identities of Yang [20] for the coefficients A_n defined by

(1.8)
$$\prod_{n=1}^{\infty} (1 + xq^n + x^2q^{2n}) = \sum_{n=-\infty}^{\infty} A_n x^n$$

and a convolution identity for the coefficients C_n defined by

(1.9)
$$\prod_{n=1}^{\infty} (1+xq^n) = \sum_{n=-\infty}^{\infty} C_n x^n.$$

Also we deduce from (1.5) convolution identities analogous to those of Yang which seem new. In fact, we obtain convolution identities

and
$$\sum_{n=-\infty}^{\infty} q^{-n} D_n D_{2m+n} = \frac{q^{m(m+1)} (-q; q^2)_{\infty}^2}{(q; q)_{\infty} (q; q^2)_{\infty}}$$
$$\sum_{n=-\infty}^{\infty} q^{-n} D_n D_{2m+n-1} = \frac{2q^{m^2} (-q^2; q^2)_{\infty}^2}{(q; q)_{\infty} (q; q^2)_{\infty}}$$

where the coefficients D_n are defined by

(1.10)
$$\prod_{n=1}^{\infty} \left(1 + 2xq^n + x^2q^{2n} \right) = \sum_{n=-\infty}^{\infty} D_n x^n.$$

2. THE MAIN THEOREM

THEOREM 2.1. If $B_n(\alpha, \theta, q)$ is as defined by (1.4) then

(2.1)

$$\sum_{n=-\infty}^{\infty} q^{-n} B_n(\beta, \theta, q) B_{m+n}(\alpha, \theta, q)$$

$$= \frac{(-1)^m (e^{i\theta} \alpha q)^m (1/\alpha; q)_m (\beta q; q)_\infty^2 (\alpha q; q)_\infty^2}{(q; q)_\infty^2 (\alpha \beta q; q)_\infty^2 (\beta q; q)_m} \times {}_2\psi_2 \begin{bmatrix} q^m/\alpha, 1/\beta; \\ q; \alpha \beta q^{m+1}; \end{bmatrix}.$$

PROOF: By (1.4)

$$\begin{bmatrix} \sum_{n=-\infty}^{\infty} B_n(\alpha, \theta, q) x^n \end{bmatrix} \begin{bmatrix} \sum_{n=-\infty}^{\infty} B_n(\beta, \theta, q) q^{-n} x^{-n} \end{bmatrix}$$

$$= \frac{\prod_{n=1}^{\infty} (1 + 2xq^n \cos \theta + x^2 q^{2n}) (1 + 2x^{-1}q^{n-1} \cos \theta + x^{-2}q^{2(n-1)})}{\prod_{n=1}^{\infty} (1 + 2\alpha xq^n \cos \theta + \alpha^2 x^2 q^{2n}) (1 + 2\beta x^{-1}q^{n-1} \cos \theta + \beta^2 x^{-2}q^{2(n-1)})}$$

$$= \frac{(-xe^{i\theta}q;q)_{\infty} (-e^{-i\theta}/x;q)_{\infty} (-xe^{-i\theta}q;q)_{\infty} (-e^{i\theta}/x;q)_{\infty}}{(-\alpha xe^{i\theta}q;q)_{\infty} (-\beta e^{-i\theta}/x;q)_{\infty} (-\alpha xe^{-i\theta}q;q)_{\infty} (-\beta e^{i\theta}/x;q)_{\infty}}$$

$$= \frac{(\beta q;q)_{\infty}^2 (\alpha q;q)_{\infty}^2}{(q;q)_{\infty}^2 (\alpha \beta q;q)_{\infty}^2} \left[\sum_{k=-\infty}^{\infty} \frac{(1/\alpha;q)_k (-\alpha xe^{i\theta}q)^k}{(\beta q;q)_k} \right]$$

$$\times \left[\sum_{j=-\infty}^{\infty} \frac{(1/\alpha;q)_j (-\alpha xe^{-i\theta}q)^j}{(\beta q;q)_j} \right], \quad \text{on using (1.1).}$$

Now, comparing the coefficients of x^m we get

158

$$\begin{split} &\sum_{n=-\infty}^{\infty} q^{-n} B_n(\beta, \theta, q) B_{m+n}(\alpha, \theta, q) \\ &= \frac{(\beta q; q)_{\infty}^2 (\alpha q; q)_{\infty}^2}{(q; q)_{\infty}^2 (\alpha \beta q; q)_{\infty}^2} \\ &\times \sum_{n=-\infty}^{\infty} \frac{(1/\alpha; q)_{-n} (-\alpha e^{-i\theta} q)^{-n} (1/\alpha; q)_{m+n} (-\alpha e^{i\theta} q)^{m+n}}{(\beta q; q)_{-n} (\beta q; q)_{m+n}} \\ &= \frac{(-1)^m (e^{i\theta} \alpha q)^m (1/\alpha; q)_m (\beta q; q)_{\infty}^2 (\alpha q; q)_{\infty}^2}{(\beta q; q)_m (q; q)_{\infty}^2 (\alpha \beta q; q)_{\infty}^2} \\ &\times \sum_{n=-\infty}^{\infty} \frac{(1/\alpha; q)_{-n} (q^m/\alpha; q)_n e^{2in\theta}}{(\beta q; q)_{-n} (\beta q^{m+1}; q)_n} \\ &= \frac{(-1)^m (e^{i\theta} \alpha q)^m (1/\alpha; q)_m (\beta q; q)_{\infty}^2 (\alpha \beta q; q)_{\infty}^2}{(\beta q; q)_m (q; q)_{\infty}^2 (\alpha \beta q; q)_{\infty}^2} \\ &\times \sum_{n=-\infty}^{\infty} \frac{(q^m/\alpha; q)_n (1/\beta; q)_n (\alpha \beta q e^{2i\theta})^n}{(\alpha q; q)_n (\beta q^{m+1}; q)_n}. \end{split}$$

This completes the proof of the Theorem 2.1.

3. Some special cases

Let $\overline{B}_n(\alpha, q)$ be defined by

(3.1)
$$\frac{\prod_{n=1}^{\infty} \left(1+x^2 q^{2n}\right)}{\prod_{n=1}^{\infty} \left(1+\alpha^2 x^2 q^{2n}\right)} = \sum_{n=-\infty}^{\infty} \overline{B}_n(\alpha, q) x^n$$

0

so that, by (1.4)

(3.2)
$$\overline{B}_n(\alpha, q) = B_n(\alpha, \pi/2, q).$$

Putting $\theta = \pi/2$ in (2.1) and then using (3.2) and (1.7) we have the following Theorem.

THEOREM 3.1. If $\overline{B}_n(\alpha, q)$ is as defined by (3.1), then

(3.3)

$$\sum_{n=-\infty}^{\infty} q^{-n} \overline{B}_{n}(\beta, q) \overline{B}_{m+n}(\alpha, q)$$

$$= \frac{(-i)^{m} (\alpha q)^{m} (1/\alpha; q)_{m} (\alpha^{2}/q^{m-2}; q^{2})_{\infty} (\alpha q; q)_{\infty}}{(q; q)_{\infty}^{2} (\alpha \beta q; q)_{\infty}} \times \frac{(\beta^{2} q^{m+2}; q^{2})_{\infty} (q^{2}; q^{2})_{\infty} (q^{m+1}; q^{2})_{\infty} (1/q^{m-1}; q^{2})_{\infty}}{(\alpha/q^{m-1}; q)_{\infty} (-\alpha \beta q; q)_{\infty}}$$

Changing *m* to 2m in (2.1) and putting $\theta = \pi/3$, $\alpha = 0 = \beta$ and noting from (1.4) and (1.8) that $A_n = A_n(q) = B_n(0, \pi/3, q)$ we obtain

(3.4)
$$\sum_{n=-\infty}^{\infty} q^{-n} A_n A_{2m+n} = \frac{q^{m(m+1)}}{(q;q)_{\infty}^2} \sum_{n=-\infty}^{\infty} q^{(m+n)^2} \omega^{(m+n)}$$

where $\omega = e^{2\pi i/3}$. Employing (1.2) (with $z = \omega$) in the right side of (3.4) and then using the easily verified Euler's identity

$$\left(-q;q^{2}\right)_{\infty}=1/\left(q;q^{2}\right)_{\infty}\left(-q^{2};q^{2}\right)_{\infty}$$

we at once have the following Theorem of Yang [20].

THEOREM 3.2. (K.W. Yang)

(3.5)
$$\sum_{n=-\infty}^{\infty} q^{-n} A_n A_{2m+n} = \frac{q^{m(m+1)} (-q^3; q^6)_{\infty} (-q^2; q^2)_{\infty}}{(q; q)_{\infty}}.$$

Similarly on changing m to 2m-1 in (2.1) and then proceeding as above, we obtain another result of Yang [20].

THEOREM 3.3. (K.W. Yang).

(3.6)
$$\sum_{n=-\infty}^{\infty} q^{-n} A_n A_{2m+n-1} = \frac{q^{m^2} (-q^6; q^6)_{\infty} (-q; q^2)_{\infty}}{(q; q)_{\infty}}.$$

Changing *m* to 2*m* in (2.1) and then putting $\theta = \pi/2$, $\alpha = 0 = \beta$ and noting from (1.4) and (1.9) that $B_{2n+1} = 0$ and $B_{2n}(0, \pi/2, \sqrt{q}) = C_n$, we get

(3.7)
$$\sum_{n=-\infty}^{\infty} q^{-2n} C_n(q^2) C_{m+n}(q^2) = \frac{q^{m(m+1)}}{(q;q)_{\infty}^2} \sum_{n=-\infty}^{\infty} (-1)^{m+n} q^{(m+n)^2}.$$

Employing (1.2) (with z = -1) in the right side of (3.7) and then changing q to \sqrt{q} we have the following theorem equivalent to an identity of Cauchy [4, p.22].

THEOREM 3.4.

(3.8)
$$\sum_{n=-\infty}^{\infty} q^{-n} C_n C_{m+n} = \frac{q^{m(m+1)/2}}{(q;q)_{\infty}}$$

We may remark that (3.8) can of course be obtained from (3.3) by changing m to 2m and then putting $\alpha = 0 = \beta$. To see the equivalence of (3.8) with the aforementioned identity of Cauchy [4, p.22], first put $\alpha = 0$ and z = -x in (1.3) to get

$$\prod_{n=1}^{\infty} (1 + xq^n) = \sum_{n=0}^{\infty} \frac{q^{n(n+1)/2} x^n}{(q;q)_n}$$

which is nothing but an identity of Euler [4]. Comparing this with (1.9), we have

$$C_n = \frac{q^{n(n+1)/2}}{(q;q)_n}$$

using which in (3.8) we have

(3.8')
$$\sum_{n=0}^{\infty} \frac{q^{n(n+m)}}{(q;q)_n(q;q)_{n+m}} = \frac{1}{(q;q)_{\infty}},$$

the required identity.

Changing *m* to 2m in (2.1) and then putting $\theta = 0$, $\alpha = 0 = \beta$ and noting from (1.4) and (1.10) that $D_n = D_n(q) = B_n(0, 0, q)$ we obtain

(3.9)
$$\sum_{n=-\infty}^{\infty} q^{-n} D_n D_{2m+n} = \frac{q^{m(m+1)}}{(q;q)_{\infty}^2} \sum_{n=-\infty}^{\infty} q^{(m+n)^2}.$$

Using (1.2) (with z = 1) in (3.9) we have the following Theorem.

THEOREM 3.5.

(3.10)
$$\sum_{n=-\infty}^{\infty} q^{-n} D_n D_{2m+n} = \frac{q^{m(m+1)} (-q; q^2)_{\infty}^2}{(q; q)_{\infty} (q; q^2)_{\infty}}$$

Similarly, on changing m to 2m-1 in (2.1) and then proceeding as in the derivation of (3.10) we have the following Theorem:

THEOREM 3.6.

(3.11)
$$\sum_{n=-\infty}^{\infty} q^{-n} D_n D_{2m+n-1} = \frac{2q^{m^2} (-q^2; q^2)_{\infty}^2}{(q; q)_{\infty} (q; q^2)_{\infty}}.$$

4. Some partition theoretic interpretations and open questions

In this section we bring about connections of some results of Section 3 with the generalised Frobenius partition functions and raise some questions.

1. An application of the q-binomial theorem to the left side of (3.1) at once yields the finite product representation of $\overline{B}_n(\alpha, q)$ namely

$$\overline{B}_{2n}(\alpha, q) = \frac{(-1)^n (\alpha^{-2}; q^2)_n \alpha^{2n} q^{2n}}{(q^2; q^2)_n}$$

and $B_{2n+1}(\alpha;q) = 0$. Consequently, Theorem 3.1 must be an instance of one of the $_2\Phi_1$ summations. Which one?

2. Considering the right side of (3.5) we have

$$\frac{q^{m(m+1)}(q^2;q^2)_{\infty}(-q^3;q^6)_{\infty}}{(q;q)_{\infty}} = \frac{q^{m(m+1)}(q^2;q^2)_{\infty}(-q^3;q^6)_{\infty}}{(q;q)_{\infty}^2(-q;q^2)_{\infty}}$$
$$= \frac{q^{m(m+1)}}{(q;q)_{\infty}(q^2;q^{12})_{\infty}(q^3;q^{12})_{\infty}(q^9;q^{12})_{\infty}(q^{10};q^{12})_{\infty}}$$
$$= q^{m(m+1)}\sum_{n=0}^{\infty}\phi_2(n)q^n$$

by Corollary 5.1 of [5], where $\phi_2(n)$ is the number of generalised Frobenius partitions of *n* that allow up to 2 repetitions of an integer in any row [5, p.6]. Thus we have proved that $\sum_{n=-\infty}^{\infty} q^{-n-m^2-m}A_nA_{2m+n}$ is the generating function for $\phi_2(n)$. Thus Theorem 3.2 takes on combinatorial significance. Is there a direct arithmetic proof of this fact? 3. Similarly, in Theorem 3.5, considering the right side of (3.10) and using Corollary 5.2 of [5] we can show that $\sum_{n=-\infty}^{\infty} q^{-n-m^2-m}D_nD_{2m+n}$ is the generating function for $c\phi_2(n)$, the number of 3-coloured generalised Frobenius partitions of n [5, p.7]. Is there a direct arithmetic proof of this fact also?

4. Are there any combinatorial facts in the analogous Theorems 3.3 and 3.6? Unlike in Theorems 3.2 and 3.5 the infinite products in the right sides of (3.6) and (3.11) do not seem to generate any partition functions.

References

 C. Adiga, B.C. Berndt, S. Bhargava and G.N. Watson, 'Chapter 16 of Ramanujan's second notebook: Theta-functions and q-series', Mem. Amer. Math. Soc. 53 (1985), 315.

- [2] G.E. Andrews, 'On Ramanujan's summation of $_{1}\Psi_{1}(a; b; z)$ ', Proc. Amer. Math. Soc. 22 (1969), 552-553.
- [3] G.E. Andrews, 'On a transformation of bilateral series with applications', Proc. Amer. Math. Soc. 25 (1970), 554-558.
- [4] G.E. Andrews, The theory of partitions, Encyclopedia of Math. and its Applications 2 (Addison-Wesley, Reading, 1976).
- [5] G.E. Andrews, 'Generalized Frobenius partitions', Mem. Amer. Math. Soc. 49 (1984), 301.
- [6] G.E. Andrews and R. Askey, 'A simple proof of Ramanujan's summation of the $_1\Psi_1$ ', *Aequationes Math.* 18 (1978), 333-337.
- [7] R. Askey, 'Ramanujan's extensions of the gamma and beta functions', Amer. Math. Monthly 87 (1980), 346-357.
- [8] R. Askey, 'The number of representations of an integer as the sum of two squares', Indian. J. Math. 2, 32 (1990), 187-192.
- B.C. Berndt, Ramanujan's notebooks, Part III (Springer-Verlag, Berlin, Heidelberg, New York, 1991).
- [10] S. Bhargava, Chandrashekar Adiga and D.D. Somashekara, 'Ramanujan's $_{1}\Psi_{1}$ summation and an interesting generalization of an identity of Jacobi', (submitted).
- [11] S. Bhargava, Chandrashekar Adiga and D.D. Somashekara, 'On the representations of an integer as a sum of a square and thrice a square', (submitted).
- [12] H. Exton, q-hypergeometric functions and applications, Ellis Horwood series in Mathematics and its applications (Chichester, 1983).
- [13] W. Hahn, 'Beitrage zur theorie der Heineschen reihen', Math. Nachr. 2 (1949), 340-379.
- [14] M.E.H. Ismail, 'A simple proof of Ramanujan's $_1\Psi_1$ sum', Proc. Amer. Math. Soc. 63 (1977), 185-186.
- [15] M. Jackson, 'On Lerch's transcendent and the basic bilateral hypergeometric series 2Ψ2', J. London Math. Soc. 25 (1950), 189–196.
- [16] C.G.J. Jacobi, Fundamenta Nova theoriae functionum ellipticarum (Gesammelte Werke, Erster Band, G. Reimer, Berlin, 1981), pp. 49-239.
- [17] S. Ramanujan, Notebooks (Vol II) (Tata Institute of Fundamental Research, Bombay, 1957).
- [18] H.A. Rothe, Systametiches Lehrbuch der arithmetik (Barth, Leipzig, 1811).
- [19] K. Venkatachaliengar, Development of elliptic functions according to Ramanujan, Madurai Kamaraj University, Technical Report-2.
- [20] K.W. Yang, 'On the product $\prod_{n \ge 1} (1 + q^n x + q^{2n} x^2)$ ', J. Austral. Math. Soc. Ser. A 48 (1990), 148-151.

Department of Mathematics University of Mysore Manasagangotri Mysore 570 006 India Department of Mathematics Yuvaraja's College University of Mysore Mysore 570 005 India